
an = sn�1exp(2n�1) for n > 1, then sn = (exp(2n)�1)
(e�1)

. Th e se r ie s
P

anf( sn�1) i s di ve r ge n t ,

by o ur t h e o r e m, s i n ce
R
1

2 1 ( x log x) dx i s d i v e r g e n t . Ho we v e r
P

anf( sn) b e h av e s li ke
P
2�n

a n d t h e r e f o r e i s c o n v e r g e n t . Ho we v e r , i n t h e s pe c i a l c a s e f( x) = x�p; p� 1 , i t i s t r u e t h a tP
anf( sn) =

P
an=spn d o e s d i v e r g e .

It s u �c e s t o p r o v e
P

an=sn d i v e r g e s s i n c ean
s
p

n

� an
sn

f o r a l l s u �c i e n t l y l a r g e n i f sn ! 1

a s n! 1 a n d p � 1 . By t h e c o mp a r i s o n t e s t , t h e d i v e r g e n c e o f
P an

sn
wo u l d t h e n i mp l y

t h e d i v e r g e n c e o f
P

an=spn f o r a l l p � 1 . Th e r e a r e t wo c a s e s t o c o n s i d e r . Ei t hn � sn�1
f o r a l l s u �c i e n t l y l a r g e n o r o t h e r wi s e t h e r e e xi s t i n �n i t e l y ma n yn >s n�1.
I n t h e f o r me r c a s e , we h a v e f o r a l l s u �c i e n t l y l a r g e n

an
sn

=
an

( sn�1 + an)
�

an
( 2 sn�1)

:

Bu t we k n o w
P

an=sn�1 i s d i v e r g e n t , a n d h e n c e , b y t h e c o mp a r i s o n t e s t ,
P

an=sn i s a l s o
d i v e r g e n t . I n t h e s e c o n d c a s e , we h a v e f o r i n � n i t e l y ma n y n

an
sn

=
an

( sn�1 + an)
�

an
( 2 an)

=
1

2
:

Th u s l i mn!1(
an
sn
) 6= 0 a n d

P
an=sn i s d i v e r g e n t i n t h i s c a s e , t o o . Th i s c o mp

p r o o f .
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S u p p o s e t h a t

P
an i s a d i v e r g e n t s e r i e s o f p o s i t i v e t e r ms , a n d l e t sn = a1 + � � �+ an f o r

n= 1 ; 2 ; : : :. Fo r wh i c h v a l u e s o f p d o e s t h e s e r i e s
P

an=spn c o n v e r g e ?
S o l u t i o n b y El me r K. Ha y a s h i . We p r o v e a mo r e g e n e r a l t h e o r e m f r o

t h a t
P

an=spn c o n v e r g e s i f a n d o n l y i f p >1 .
Th e o r e m. L e t f( x) , f o r x > 0 , b e a n y n o n n e g a t i v e , c o n t i n u o u s , m

c r e a s i n g , r e a l - v a l u e d f u n c t i o n . I f
P

an i s a d i v e r g e n t s e r i e s o f p o s i t i v e t e r ms an =
a1 + � � �+ an f o r n= 1 ; 2 ; : : :, t h e n

X
anf( sn) c o n v e r g e s i f

Z
1

s1

f( x) dx<1;

a n d

X
anf( sn�1) d i v e r g e s i f

Z
1

s1

f( x) dx=1:

Pr o o f : I n t u i t i v e l y we r e a s o n t h a t i f u = sn t h e n du i s a n a l o g o u s t o sn � sn�1 = an.
He n c e

P
anf( sn) p r o b a b l y b e h a v e s s o me wh a t l i k e

R
f( u) du. Fu r t h e r mo r e , i f F ( x) i s a n

a n t i d e r i v a t i v e o f t h e c o n t i n u o u s f u n c t i o n f( x) , t h e n
R b
a f( u) du = F( b) � F( a) . Th u s a

n a t u r a l s e r i e s wi t h wh i c h t o c o mp a r e
P

anf( sn) i s t h e t e l e s c o p i n g s e r i e s

1X
n=2

fF( sn) � F( sn�1) g( 1 )

s i n c e
nX

k=2

f F( sk) � F( sk�1) g = F( sn) � F( s1) =

Z sn

s1

f( x) dx:( 2 )

Fr o m e qu a t i o n ( 2 ) , i t i s a p p a r e n t t h a t t h e s e r i e s ( 1 ) c o n v e r g e s i fR
1

s1
f( x) dx, i s c o n v e r g e n t . No w, b y t h e me a n v a l u e t h e o r e m,

F( sk) � F( sk�1) = F0( Ck) ( sk � sk�1) = akf( ck)

f o r s o me ck b e t we e n sk�1 a n d sk. S i n c e f i s mo n o t o n i c a l l y d e c r e a s i n g , we h a
2 ; 3; : : :,

F( sk) � F( sk�1) � akf( sk�1)

a n d

F( sk) � F( sk�1) � akf( sk) :

Us i n g t h e Co mp a r i s o n t e s t , we a r r i v e a t t h e c o n c l u s i o n o f t h e t h e o r
I f we t a k e f( x) = x�p; p � 0 , we c o n c l u d e t h a t

P
an=spn c o n v e r g e s f o r p > 1 a n dP

an=s
p
n�1 d i v e r g e s f o r 0 � p � 1 . I n g e n e r a l , i t i s n o t t r u e t h a t i f

P
anf( sn�1) i s d i v e r e n t ,

t h e n
P

anf( sn) i s a l s o d i v e r g e n t . Fo r e x a mp l e , i f f( x) =1
x log x

, a1 = s1 = 1 + e a n d


